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B Case particles 2- 2|, [ui]
1. The case particle 2| [ui] ‘ ‘

The case particle ‘2|[ui]’ indicates the possessor and possession relationship between two nouns, as in
N A 0| Bifjeimseuui bang]

“‘James’ room.” The first noun is typically the possessor (since it is attached by the particle),

and the second noun is the possession. The case particle 2|[ui] is the same regardless of whether it attac
hes to a noun that ends in a vowel or a consonant, as in T=2r2| 7% [sujanui gabang] “Susan’s bag.” and
E L| 9| X|Ztoniui jigap] “Tony’s wallet.”

The first person possessive pronoun L{[nae] (plain form) and A[[je] (humble form) are combinations of the
first person pronouns and the particle:

Lt[na] “I (plain)” + 2l[ui] = W[nae] “my (plain)”
O A2 Lo (LH) 25 210f. [geu geoseun naui (nae) undonghwaya.]
“As for that, (it) is my sneaker.”

X[jeo] “I (humble)” + 2|[ui] = HMl[je] “my (humble)”
EOrA= X2l (M) Fl++ & L|LC}. [tomaseuneun jeoui (je) chinguipnida.]
“As for Thomas, (he) is my friend.”



B Case particles 2- 2|, [ui]
In a similar manner, the question word +—-2|[nuguui] ‘ ‘

“whose” is the combination of the question word +—*[nugu] “who” and the particle 2|[ui],
as in O] A2 +=79|[nuguui] = X| 0| 22 “As for this, whose letter is (this)?”

As seen above, the function of the particle 2|[ui] resembles that of the English suffix -’s.
But, there is one clear difference in their usages. English allows to end with this the possessor + ’s constru

) ) LG L

ction, as in “It's Steven’s.” or “It's Andy’s

However, Korean does not allow the possessor noun ending with the particle. Consequently,
a sentence like Z1 A H = 2E[E Q|0 . [geu keompyuteoneun seutibeuuiyeyo.]

“As for that computer, (it) is Steven’s.” is unacceptable.

For this purpose, a bound noun Z[geot] “thing” typically appears after the particle,

as 1 AFEH= AE[E9] ZA0[0 L. [geu keompyuteoneun seutibeuui geosieyo.]

“As for that computer, (it) is Steven’s (thing).”

In colloquial and informal usages, the particle 2|[ui] can be often omitted. For instance, =%t 7% [sujan ga
bang] can be used instead of =%t 2| 7} [sujanui gabang] “Susan’s bag” and 2 E| 2 Z[seutibeu geot] (or
A E|E AH[seutibeu geo] for a more colloquial usage) can be used instead of 2 E|E 2| Zd[seutibeuui geot]
“Steven’s (thing).”



B Case particles 2- 2|, [ui]

In summary, there are three ways to express a possessor—possession relationship in Korean:
1) noun 2|[ui] noun, as in ¥ Ot2| X|Z} [emmaui jigap] “Emma’s wallet.”
2) noun noun, as in A0} X|Zf [emma jigap] “Emma wallet.”

3) noun Z[geot] (or /[geo]), as in YOI Zd[emma geot] (or ¥ OF H [emma geo]) “Emma thing.”



B [rregularr verbs

Korean predicates (verbs and adjectives) are either regular or irregular.

The regularity of a predicate depends on whether the stem of the predicate is subject to
variation. The predicates whose stem do not change, regardless of the sound of the following s
uffix, are called regular predicates. On the other hand, those predicates whose stems are subje
ct to variation depending on the sound of the following suffix are called irregular predicates.



B [rregularr verbs

= -irregular

Some verbs whose stem end with = are irregular. For instance, verb = L}.

= of the stem = changes to = when followed by a suffix that begins with a vowel.

= CHmutdda] ask

Z CHgeotdda] walk
= CHdeutdda] listen
2! Cl[sitdda] load

-sLIC

= & LI CH{mutsseumnida]
& = LI CHgeotsseumnida
= 5 LI CHdeutsseumnida]

Al S LI CHsitsseumnida]

-0/0tR
= (| 2[mureoyo]
Z ( 2[georeoyo]
= (| R[deureoyo]
&1 K[sireoyo]



B [rregularr verbs

= -irregular

predicates are subject to the following variation: = changes to either < or 2,
when ensuing suffix begins with a vowel. For instance, &L “cold” is conjugated:

ZF+HE =2+ ==L

-SLICH
= CHgupdda] roast = & LI CHgupsseumnida]
& CHnupdda] lie down & & LI CHnupsseumnida]
& CH{dopdda] help & & LI CHdopsseumnida]
& CHdeopdda] hot & = LI CHdeopsseumnida]

-H/0tR

72 R[guwoyo]
< 2[nuwoyo]
& 2t 2[dowayo]
< 2[deowoyo]



B [rregularr verbs

= -irregular

predicates are subject to the following variation: = changes to either < or 2,

when ensuing suffix begins with a vowel. For instance, &L “cold” is conjugated:
ZF+HE =2+ ==L

& Ctimepdda] spicy 84 & LI CHmepsseumnida] 0H 2 2[mewoyo]
& CH[shipdda] easy 2 & LI CHshipsseumnida] 2| ¥ R[shiwoyo]
M &Cteodupdda] dark H & &LICHeodupsseumnidal H & 2[eoduwoyo]



B [rregularr verbs

A--irregular
Some verbs that end with A are subject to the following irregular conjugation: A of the stem gets

deleted when followed by a suffix that begins with a vowel.

-5LICH -01/0tR
= Ctbutdda] swell 2 &LICHbutsseumnida] £ X 2[bueoyo]
%4 CHjeotdda] stir X &LICHjeotsseumnida] X ( 2[jeoeoyo]
X! CHjitdda] build X & LI CHjitsseumnida] Xl 0 K[jieoyo]




B [rregularr verbs

S -irregular
Some predicates that end with = are subject to the following irregular conjugation: = of stem drops out w

hen followed by a suffix that begins with a vowel. A number of color-related adjectives as well as demonstr
atives fall into this group of irregular predicates

-SLICH -H/0tR
Nt CHggamata] black 2 & LI CH{ggamasseumnidal )t0H 2[ggameyo]
= & CHnorata] yellow L2 &LICHnorasseumnidal] =2 R[noreyo]
Wt ZCHppalgata] red 2 & LI CHppalgasseumnidal % JH 2 [ppalgeyo]
I} & Cl[parata] blue It & LI CHparasseumnida] I} e L [pareyo]
ot & Cthayata] white ot &LICHhayasseumnidal] ot 0 2[hayeyo]



B [rregularr verbs

=2 -irregular

=

Most Korean predicates that end with = conjugate irregularly: = of the stem drops out and a consonant
is added, when followed by a suffix that begins either O or Of. For instance, consider the verb 7} 2L}

“divide”. Notice that £ of the stem is deleted but a consonant = is inserted, when followed by polite spee

ch level ending -Ot&2

Jt =Lt gareuda] divide

J| 2CHgireuda] foster

2 Z(CHmoreuda] do not know
Ct 2 Ctdareuda] different

S Z2(CHheureuda] flow

btk 2 Ct[bbareuda] fast

= L|C} -H/0IR

Jt&LICHgareumnida] Z 2t [gallayo]

J| & CHgireumnida] 2 21 2[gilleoyo]
2 & LI CHmoreumnida] = ct2[mollayo]
Ct& LI CH{dareumnida] &2t 2[dallayo]
S S LI CHheurumnida] =21 2[heulleoyo]

it & L| CH{bbareumnidal] % 2t 2 [bballayo]



B [rregularr verbs
@ O

=2 -irregular
All Korean predicates that end in = are subject to the following irregular conjugation: = drops

- d A

out when the following suffix begins with one of :

-= L|C} -0{/0tR
= Chnalda] fly & LI CtH{jnamnida] =0t 2[narayo]
Ot=Clmandeuldal] make  Et=L|CHmandeupnida] 0= H [mandeoreoyo]
&t CHsalda] live &FLI CHsamnida] &0t R [sarayo]

2 CHmeolda] far & LI CHmeomnida] 2 2[meoreoyo]



B [rregularr verbs

@ O
O -irregular

All Korean predicates that ends with the vowel £ are subject to the following irregular
conjugation: the vowel £ of the stem drops out when the following suffix begins with a vowel.

-= L|C} -0H/0tR
11 CHggeuda] put off = LI CHggeumnida] JH 2[ggeoyo]
£ CHddeuda] float & LI Ct{ddeumnida] [ 2[ddeoyo]
J| 88 Ctgibbeuda] happy J| & LI CHgibbeumnida] )|t 2[gibbeoyo]
Ht 28 CHbabbeuda] busy Ht & LI CH{babbeumnida] BHiEE 2 [babbayo]
= I (H[seulpeuda] sad =& LICHseulpeumnida] =14 K[seulpeoyo]

0il 28 CHyeppeuda] pretty Ol = LI CHyeppeumnida] 0l i 2[yeppeoyo]



Vocabulary

Vocabulary
Jtet[gabang] bag

21 =[gunmul] building
11 J|[gogi] meat
Z[gil] road

= 2i[nore] song

22 XH{moja] hat/cap

= [mul] water

bl [bae] stomach/ship
M[seg] color

Xt = XHjadongcha] car

ot =[haneul] sky

& 0+ XI[gangaji] puppy
J|Z[gibun] feeling/mood
S[gong] ball

=[don] money

& 2 &l [sunsengnim] teacher
=[mok] throat/neck

Bt &[baram] wind
A&H[san] mountain

& =[eolgul] face

&l 7 [chingu] friend
ZH[chek] book






